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D. fortii: 0
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BEITS5HMN HIFH (cells/L)
B R IKiE KiE B Alexandrium s Dinophysis &
(°C) pp- D. fortii D. acuminata F DD Dinophysis

. Om 8.60 33.53

Q%) 5m 866 33.57 30 0 390 0
Om .63 33.35

@fAH 5m 9.39 33.80 0 0 20 0
10m 9.74 33.92
. Om 10.98 34.22

@=ViR 5m 10.57 34.19 0 0 0 0
Om 11.80 34.22

@EHIE 5m 11.81 34.22 0 0 0 0
10m 11.72 34.21

®ER 10m - - 0 0 0 0

®KiR 10m - - 0 0 0 0
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—_ Alexandrium spp.(cells/L) Alexandrium spp.
OHE QAR |Q= ViR [DEHiIE [OEE [(@KXR
65848 60 20 10 0 0 -]
6A11H 40 30 10 0 - -
68188 20 20 10 0 0 -5
6H25H 0 20 0 0 0 0| &
7828 0 0 0 0 0 0| &
7898 0 0 0 10 0 o|3:
78178 10 0 0 0 0 0
78230 120 10 0 0 0 0
7H31H[ 260 0 10 0 - -
8H6H| 160 0 0 0 0 0 : . el— —f =
8A13H 0 0 0 0 0 0 ER T IR - S S
9A18H 0 0 0 0 - 0 = = = G
10528 10 0 10 0 0 -
10829H 0 0 0 0 - 0
108318]- - _ _ 0 _ —e— (UHT —a—28BH#A - -@EHE
12H3H 10 0 0 0 0 0
1A78 20 0 0 0 0 0 BHE BER
18158 30 0 0 0 0 0
HER D. fortii (cells/L)
O#E QKA |-V |@EHIE |OEE |[OXR D.fortii
6548 10 0 100 10 120]- 400 26
6B118] 40 200 30 40]- - 350 o
68188 0 120 60 210 270 20
68258 20 0 80 70 20 = 18
7828 0 20 20 40 10 £ 12
7898 10 0 20 0 0 0l 12
78178 0 0 0 20 0 40 | = 10
7H23H 0 0 0 30 20 ol ® 8
7H318 0 10 0 0 - ] s
8A6H 0 0 0 0 0 0 2
8A13H 0 0 0 0 0 0 — - - o
8F20H 0 0 0 0 0 0 e N EERRESERREEREERS
9g1I8A] 0 0 0 0 - o SESE X LT EX T LK TEDG
10528 0 0 0 0 0 - = - - -
108298 0 0 0 0 - 0
108318 - - - - 0 - —o— (DT —a—QFRFE @IVl -e-DfHE
12538 0 0 0 0 0 0
1878 0 0 0 0 0 0 B ®KR —— EHEKE
18158 0 0 0 0 0 0
@A D. acuminata (cells/L)
OHHE |QFHAR Q= ViR |DEHIF |GEE [(OKR
684H| 300 60 340 200 320 -
6811H| 160 120 80 140 [~ -
6H18H| 1550 60 30 70 50 |- D.acuminata
68258 400 20 20 10 0 10] 2000 26
7R28| 200 50 10 0 0 0] 1800 24
7H9H| 550 70 0 10 0 o 100 2
7B178| 1790 60 0 0 0 0|z I B
7823H| 300 0 0 10 0 10 = 1000 14
78318 70 0 0 0 - & s i
8AGH| 30 0 0 0 0 0]® s 8
8A138 0 0 0 o] 10 ol . /._(';
8H208| 110 10 10 0 0 0 0 s Boal —5— : == o
9H18H| 340 50 0 0 - 0 R R = S R - B R~
ofeE[ sl sl ol ol ol 4 fifiiceEifidfifcicis
10829H| 340 20 0 0 - 0 - = - -
108318[- - - - 0 -]
12838| 240 0 20 0 0 0 —e— @ —=—@8FE  ——QovVE -e-OFEHk
1B7E[ 240 30 0 0 0 0 - xR ke
18158 390 20 0 0 0 0
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